Understand and use multiples

35

a) Explain how the bar model shows that 35 is a multiple of 7

It Shows Yok SxF =35

b) Find three more multiples of 7 other than 35

E-S()_ Lba, 2\ 3

¢) Find a multiple of 7 greater than 1,000 Q,S,

7,000

d) Explain to a partner why 40 is not a multiple of 7

o Draw a bar model to illustrate why 48 is a multiple of 8

3|82 8|88

o Find any five multiples of these numbers. Eg%'

a) 5_5 10,15, 20,25

b) 11_11. 22, 33 LU, 59

o 17 12,304, 5\, 6%, 85
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a) Circle all the multiples of 12 in the hundred square.
b) Draw a square around all the multiples of 8

¢) List all the common multiples of 12 and 8 between 1 and 100

AL, LS, 12, 96

Discuss how you found the common multiples with a partner.

d) What is the lowest common multiple of 12 and 8?

Find the lowest common multiple of these numbers.

a) 4and 5

b) 15 and 10
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¢) 9and 7?7

To find the lowest common multiple of
63 two numbers, you can multiply them.
d) 9,6and2 @
(o)i®)

18
Tick the pairs of numbers that Amir's method will work for.
7cm%)7 10 and 8 12and 4 6 and 8

o Tick all the multiples of 30
5 0 3,003 2 180 6
V \ 0 What is the lowest common multiple of 3, 5 and 20?
300 |/ 1,000 930 3,000 30 130
/ /| /| b

o 495 is a multiple of 15

Find the first three multiples of 15 above 500

Discuss the most efficient way to find the answer.

Who do you agree with?

Bothh

Explain why.
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